a(6 @) (rad)

i
S
w

[T
|
N

-1 0 1 2 3
TP n (PCA to beamline)

a(d cot(B))

(SN
<

-1 0 1 2 3
TP n (PCA to beamline)

I.J.lUJ.UUU eld l
—Erlttg%&[))g cragplt Ot02

01000_et I2
erlc stepZ__pt

oooog
KOOOO(
§§§§§
ﬁag 3d
43
('D
ﬂ
(D

é)a

101080 eta2p0to2p5

ol (o

T 15
o

4

0.5
IS
o
e
=~

2

=]
o
2
5

Ratio

10

-1 0 1 2 3
TP n (PCA to beamline)

-
feeteaaan
-

T 0 1 2 3
TP n (PCA to beamline)

o(d d.) (cm)

z

10—2 L L
]_:— ----------------------------------------- s
(0] ST TP PP S PEPEPRT PEPEPETEIPRPREPEY

3 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


